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partner before going over answers as a class. Look for

misconceptions or misunderstandings that can be v i i
addressed in the Debrief. Guide students ina 3 ccn ] 3o . ot o cuchof el shpes?
conversation to debrief the Problem Set and process the PN - ST

lesson.

. re unit

Any combination of the questions below may be used to
lead the discussion.

«_12 square units

o _20 square units

= How are the rectangles in Problems 1(b) and 1(c)
the same? How are they different?

= How are the rectangles in Problems 1(a) and 2(a) 2. o [ s . vt et e o gt
the same? How are they different? . = @
=  Which rectangle in Problem 2 has the largest .
A square inits 9 square unit.
area? How do you know? ~ =
= Compare the rectangles you made in Problem 4 E EEE:_EE
with a partner’s rectangles. How are they the
same? How are they different?
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Exit Ticket (3 minutes)

After the Student Debrief, instruct students to complete
the Exit Ticket. A review of their work will help with
assessing students’ understanding of the concepts that
were presented in today’s lesson and planning more
effectively for future lessons. The questions may be read
aloud to the students.

aQ &

[ Course:Grade3M..  Bb 3rdGrace Yearata.. G West Bend CookBo.. [ Parent-Contact Log

3. 5. Howwould therectangles i Problem 1 be diferent f they were composed of square inches?

The shapes in Bublem 1 would be bigger
i6 ey were mode of <gsare inches. The
urrloer OF 23075 wouid oy the Same,
but the size of the “uores would change

5. Setct o ractange rom rtiom 1 and recese n sauare o nd e <entmeter 4

(see attached examplc)

4 st separate e of v centemetor i popr Srv e ferst rctanes o sch s 3
are of 8 sauare certmeters.

(sec attached cxample)





